Name of Event

Molongo challenge

Date

Saturday October 10th 2015

(First na	me & surname)		G	rand Fina	al	
Place	Name	State	Score	Darts	Avg	Result
1st	Mick Lean	ACT	4788	201	23.82	6
2nd	John Taylor	ACT	4444	202	22.00	4

Losing Semi Finalists			S	Semi Fina	ıl		Semi Final Opponent				
Place	Name	State	Score	Darts	Avg	Result	Name	Score	Darts	Avg	
Equal 3rd	Dwayne Woodhaous	ACT	2794	150	18.63	2 4	Mick Lean	2875	147	19.56	
Equal 3rd	Barry Forde	ACT	2117	108	19.60	1 4	John Taylor	2400	106	22.64	

Losing (Quarter Finalists	Quarter Finals					Quarter Fi	nal Oppo	nent	
Place	Name	State	Score	Darts	Avg	Result	Name	Score	Darts	Avg
5th - 8th	Mick Lean	ACT					ВУЕ			
"	Barry Forde	ACT					ВҮЕ			
"	Bobby Simpson	ACT	1326	88	15.07	0 3	Dwayne Woodhouse	1503	89	16.89
II .	David Martin-Henry	ACT	2251	132	17.05	2 3	John Taylor	2449	129	18.98

ame of Ever

Molongo challenge

Date

Saturday October 10th 2015

(First	name & surname)		G	rand Fina	al	
Place	Name	State	Score	Darts	Avg	Result
1st	Alison Cox	ACT	2004	153	13.10	4
2nd	Julie Royle	ACT	1485	150	9.9	0

Name of Event

CANBERRA CLASSIC

Date

Sunday October 11 2015

			G	rand Fina	al	
Place	Name	State	Score	Darts	Avg	Result
1st	Anthony Fleet	ACT	3959	146	27.12	6
2nd	Jason Mudge	ACT	3465	143	24.23	2

Losing Semi Finalists			S	Semi Fina	al		Semi Final Opponent				
Place Name		State	Score	Darts	Avg	Result	Name	Score	Darts	Avg	
Equal 3rd	Mick Lean	ACT	2288	87	26.30	1 4	Anthony Fleet	2359	87	27.11	
Equal 3rd	David Martin-Henry	ACT	2108	117	18.02	1 4	Jason Mudge	2473	120	20.61	

Losing Q	uarter Finalists		Qu	arter Fin	als	S Quarter Final Opponent							
Place	Name	State	Score	Darts	Avg	Res	ult	Name	Score	Darts	Avg		
5th - 8th	Dwayne Woodhouse	ACT	2218	108	20.54	2	3	Jason Mudge	2292	107	21.42		
"	Pat Molloy	ACT	1647	86	19.15	1	3	David Martin-Henry	1880	87	21.61		
"	Barry Forde	ACT	1265	66	19.17	0	3	Anthony Fleet	1503	70	21.47		
"	John Taylor	ACT	1273	70	18.19	0	3	Mick Lean	1503	74	20.31		

Name of Event

CANBERRA CLASSIC

Date

Sunday October 11 2015

			G	rand Fina	al	
Place	Name	State	Score	Darts	Avg	Result
1st	Teresa Hore	NSW	2004	107	18.73	4
2nd	Monique Menegazzo	ACT	1841	103	17.87	0

Losing Semi Finalists			Semi Final Opponent						ent	
Place	Name	State	Score	Darts	Avg	Result	Name	Score	Darts	Avg
Equal 3rd	Kris Jones	ACT	1149	89	12.91	0 3	Teresa Hore	1503	93	16.16
Equal 3rd	Charlie Hutchinson	ACT	1988	135	14.73	1 3	Monique Menegazzo	1998	132	15.14

Losing C	Quarter Finalists	Quarter Finals						Quarter F	inal Oppor	nent	
Place	Place Name		Score	Darts	Avg	Res	ult	Name	Score	Darts	Avg
5th - 8th	Teresa Hore	NSW						ВУЕ			
п	Alison Cox	ACT	1461	126	11.60	0	3	Kris Jones	1503	126	11.93
п	Mihi Reid	ACT	1481	105	14.10	1	2	Charlie Hutchinson	1452	102	14.24
"	Monique Menegazzo	ACT						ВУЕ			